

Some Classes of Univalent Functions Associated with Rusal Differential Operator

Jadhav Shailesh S

Sundarrao More Arts, Commerce, and Science (Sr.) College, Poladpur, Raigad, Maharashtra, India

Abstract: This paper is concerned with the class $\mathfrak{S}(\eta, \xi, \alpha, \beta, \theta, \lambda)$ of normalized analytic univalent functions. We invented Rusal differential operator by making convex combination of Ruschwey and Al-Oboudi differential operator. New subclass $\mathfrak{S}(\eta, \xi, \alpha, \beta, \theta, \lambda)$ is studied with help of Rusal differential operator. Growth theorem, coefficient inequality, convexness and some other interesting properties for given class are examined. Extreme points for the mentioned class are also obtained.

Mathematics Subject classification: 30C45, 30C50

Keywords: Univalent Function, Analytic Function, Starlike Function.

I. INTRODUCTION AND PRELIMINARIES

We describe the class \mathcal{M} of all analytic, univalent functions v in the unit disk $\mathfrak{U} = \{z : |z| < 1\}$ normalized with conditions $v(0) = 0, v'(0) = 1$ given by

$$v(z) = z - \sum_{k=2}^{\infty} a_k z^k. \quad (1.1)$$

[3] has introduced Ruschwey differential operator as bellow,

Definition 1.1. $R^n: \mathbb{N} \rightarrow \mathbb{N}$ defined by

$$\begin{aligned} R^n(f(z)) &= \frac{z}{(1-z)^{n+1}} \cdot f(z) & n \in \mathbb{N} \cup \{0\} \\ &= z + \sum_{k=2}^{\infty} \binom{n+k-1}{n} a_k z^k & (z \in \mathbb{U}) \end{aligned} \quad (1.2)$$

Where (\cdot) is hadmard product defined in (2.3).

We note that $R^0 v(z) = f(z), R^1 v(z) = z v'(z)$

[5] and [8] has used following definition 1.2

Definition 1.2. A function v in \mathbb{N} is said to be starlike of order α ($0 \leq \alpha < 1$) if and only if

$$\operatorname{Re} \left\{ \frac{z v'(z)}{z} \right\} > \alpha \quad (z \in \mathbb{U} \text{ and } 0 \leq \alpha < 1) \quad (1.3)$$

We write the classes $C(0) = C, CS^*(0) = CS^*$

Definition 1.3. For $v \in \mathbb{N}$, [1] has introduced following differential operator, known as Al-Oboudi differential operator.

$D^n: \mathbb{N} \rightarrow \mathbb{N}$ defined by

$$D^0 v(z) = v(z) \quad (1.4)$$

$$D^1 v(z) = (1 - \theta) v(z) + \theta z v'(z) = D_{\theta} v(z) \quad \theta \geq 0. \quad (1.5)$$

$$D^n v(z) = D_{\theta} (D^{n-1} v(z)) \quad (1.6)$$

From (1.5) and (1.6) we have

$$D^n(v(z)) = z + \sum_{k=2}^{\infty} [1 + (k-1)\theta]^n a_k z^k \quad (z \in \mathbb{U}) \quad (1.7)$$

Jama Salman [7] has introduced the subclass namely $\mathfrak{S}(\eta, \xi, \alpha, \beta, \theta)$ of univalent normalized analytic functions. He studied the geometric properties for the for this subclass. In concern with the given subclass we are extending our further work.

II. RUSAL DIFFERENTIAL OPERATOR, CLASS $\mathfrak{S}(\eta, \xi, \alpha, \beta, \theta, \lambda)$.

We formed the Rusal differential operator by making convex combination of Ruschwey & Al-Oboudi differential operators discussed in (1.2) and (1.7) respectively. We also introduced new subclasses $\mathfrak{S}(\eta, \xi, \alpha, \beta, \theta, \lambda)$. which is generalization of $\mathfrak{S}(\eta, \xi, \alpha, \beta, \theta)$ given by [7].

Definition 2.1. For $v_1(z) = z - \sum_{k=2}^{\infty} a_k z^k$ and $v_2(z) = z - \sum_{k=2}^{\infty} b_k z^k$ in $\mathfrak{S}(\eta, \xi, \alpha, \beta, \theta, \lambda)$ defined operation ‘+’ and ‘*’ and ‘.’ as bellow

$$v_1(z) + v_2(z) = (z - \sum_{k=2}^{\infty} a_k z^k) + (z - \sum_{k=2}^{\infty} b_k z^k) = z - \sum_{k=2}^{\infty} (a_k + b_k) z^k \quad (2.1)$$

$$t * v_1(z) = t * (z - \sum_{k=2}^{\infty} a_k z^k) = z - \sum_{k=2}^{\infty} t a_k z^k \quad (2.2)$$

$$v_1(z) \cdot v_2(z) = (z - \sum_{k=2}^{\infty} a_k z^k) \cdot (z - \sum_{k=2}^{\infty} b_k z^k) = z - \sum_{k=2}^{\infty} (a_k b_k) z^k \quad (2.3)$$

Definition 2.2. Let $n \in \mathbb{N} \cup \{0\}$, $\lambda \geq 0$, $A_\lambda^n: \mathbb{N} \rightarrow \mathbb{N}$ defined by

$$A_\lambda^n(v(z)) = (1 - \lambda) D^n v(z) + \lambda R^n v(z). \quad (2.4)$$

On simplifying we observed that,

$$A_\lambda^n(v(z)) = z + \sum_{k=2}^{\infty} ([1 + (k - 1)\theta]^n (1 - \lambda) + \lambda^{n+k-1} C) a_k z^k. \quad (2.5)$$

If $n=0$, $A_\lambda^0 v(z) = v(z)$.

Definition 2.3. A function $v(z)$ in \mathcal{M} is said to be in $\mathfrak{S}(\eta, \xi, \alpha, \beta, \theta, \lambda)$ if and only if

$$\left| \frac{\frac{z(A_\lambda^n(v))' - 1}{(A_\lambda^n(v))' - 1}}{2\xi \left(\frac{z(A_\lambda^n(v))' - \alpha}{(A_\lambda^n(v))' - \alpha} - \left(\frac{z(A_\lambda^n(v))' - 1}{(A_\lambda^n(v))' - 1} \right) \right)} \right| < \beta \quad (2.6)$$

Where $0 \leq \alpha < \frac{1}{2\xi}$, $0 < \beta \leq 1$, $\frac{1}{2} \leq \xi \leq 1$, $n \in \mathbb{N} \cup \{0\}$.

We cited the following work which are related with subclass $\mathfrak{S}(\eta, \xi, \alpha, \beta, \theta, \lambda)$.

1. $\mathfrak{S}(0, \frac{1}{2}, 0, 1, \theta, 0)$ is the class of starlike functions
2. $\mathfrak{S}(0, \frac{1}{2}, \alpha, 1, \theta, 0)$ is the class of starlike function of order $0 \leq \alpha < 1$.
3. The class $\mathfrak{S}(0, \xi, \alpha, \beta, 0, 0)$ is the class studied by S.R. Kulkarni [6]
4. The class $\mathfrak{S}(0, \frac{\alpha+1}{2}, 0, \beta, 0, 0)$ is the class studied by Laxminarsimhan [4]
5. The class $\mathfrak{S}(\eta, \xi, \alpha, \beta, \theta, 0)$ is the class studied by S.R. Jumma [7].

III. MAIN RESULTS

Our next theorem gives necessary and sufficient condition for the functions in \mathbb{N} to be in $\mathfrak{S}(\eta, \xi, \alpha, \beta, \theta, \lambda)$. Also, the corollary (3.2) gives coefficient inequality for functions in the class $\mathfrak{S}(\eta, \xi, \alpha, \beta, \theta, \lambda)$.

Theorem 3.1. $v \in \mathfrak{S}(\eta, \xi, \alpha, \beta, \theta, \lambda)$ if and only if

$$\sum_{k=2}^{\infty} ([1 + (k - 1)\theta]^n (1 - \lambda) + \lambda^{n+k-1} C) (2\xi\beta(k - \alpha) + (k - 1)(1 - \beta)) a_k < 2\xi\beta(1 - \alpha) \quad (3.1)$$

$n \in \mathbb{N} \cup \{0\}$, $0 < \beta \leq 1$, $0 \leq \alpha < \frac{1}{2\xi}$, $\frac{1}{2} \leq \xi \leq 1$.

Proof. Suppose that,

$$\sum_{k=2}^{\infty} ([1 + (k - 1)\theta]^n (1 - \lambda) + \lambda^{n+k-1} C) (2\xi\beta(k - \alpha) + (k - 1)(1 - \beta)) a_k < 2\xi\beta(1 - \alpha)$$

$$|z| = 1$$

$$|z(A_\lambda^n f(z))' - A_\lambda^n(f(z))|$$

$$- \beta \left| 2\xi(z(A_\lambda^n f(z))' - \alpha A_\lambda^n(f(z))) - (z(A_\lambda^n f(z))' - A_\lambda^n(f(z))) \right|$$

$$= |c - 2\xi\beta(1 - \alpha)z + \sum_{k=2}^{\infty} ([1 + (k - 1)\theta]^n (1 - \lambda) + \lambda^{n+k-1} C) (2\xi\beta(k - \alpha) - \beta(1 - k)) a_k z^k|$$

$$\leq \left| \sum_{k=2}^{\infty} ([1 + (k - 1)\theta]^n (1 - \lambda) + \lambda^{n+k-1} C) (2\xi\beta(k - \alpha) - \beta(1 - k)) a_k - 2\xi\beta(1 - \alpha) \right|$$

$$\leq \left| \sum_{k=2}^{\infty} ([1 + (k - 1)\theta]^n (1 - \lambda) + \lambda^{n+k-1} C) (2\xi\beta(k - \alpha) - \beta(1 - k)) a_k \right| - 2\xi\beta(1 - \alpha)$$



$$\begin{aligned} &\leq 2 \xi \beta (1 - \alpha) - 2 \xi \beta (1 - \alpha) \\ &= 0. \end{aligned}$$

Hence, by maximum modulus theorem. $\forall z \in \mathfrak{S}(\eta, \xi, \alpha, \beta, \partial, \lambda)$.

Conversely suppose that, $\forall z \in \mathfrak{S}(\eta, \xi, \alpha, \beta, \partial, \lambda)$.

Definition (2.1) gives us that

$$\begin{aligned} &\left| \frac{\frac{z(A_k^n(v))'}{(A_k^n(v))' - 1}}{2\xi \left(\frac{z(A_k^n(v))'}{A_k^n(v)} - \alpha \right) - \left(\frac{z(A_k^n(v))'}{A_k^n(v)} - 1 \right)} \right| < \beta \\ &\left| \frac{a_k z^{k-1}}{2\xi(1-\alpha) - \sum_{k=2}^{\infty} ([1+(k-1)\partial]^n(1-\lambda) + \lambda^{n+k-\frac{1}{n}C})(2\xi(k-\alpha)a_k z^{k-1} + \sum_{k=2}^{\infty} ([1+(k-1)\partial]^n(1-\lambda) + \lambda^{n+k-\frac{1}{n}C})(k-1)a_k z^{k-1})} \right| < \beta \end{aligned}$$

But we know that $\text{Re}\{z\} \leq |z|$

$$\text{Re} \left\{ \frac{\sum_{k=2}^{\infty} ([1+(k-1)\partial]^n(1-\lambda) + \lambda^{n+k-\frac{1}{n}C})(k-1)a_k z^{k-1}}{2\xi(1-\alpha) - \sum_{k=2}^{\infty} ([1+(k-1)\partial]^n(1-\lambda) + \lambda^{n+k-\frac{1}{n}C})(2\xi(k-\alpha)a_k z^{k-1} + \sum_{k=2}^{\infty} ([1+(k-1)\partial]^n(1-\lambda) + \lambda^{n+k-\frac{1}{n}C})(k-1)a_k z^{k-1})} \right\} < \beta$$

Letting $z \rightarrow 1^-$ through real values in unit disc, we will get

$$\sum_{k=2}^{\infty} ([1+(k-1)\partial]^n(1-\lambda) + \lambda^{n+k-\frac{1}{n}C})(2\xi\beta(k-\alpha) + (k-1)(1-\beta))a_k < 2 \xi \beta (1-\alpha)$$

Hence completes the proof.

Moreover, the result is sharp for the functions

$$v(z) = z - \frac{2\xi\beta(1-\alpha)}{([1+(k-1)\partial]^n(1-\lambda) + \lambda^{n+k-\frac{1}{n}C})(2\xi\beta(k-\alpha) + (k-1)(1-\beta))} z^k \quad k \geq 2.$$

Corollary 3.2. Coefficient inequality

Let $v \in \mathfrak{S}(\eta, \xi, \alpha, \beta, \partial, \lambda)$ then,

$$a_k \leq \frac{2\xi\beta(1-\alpha)}{2\xi\beta(k-\alpha) + (k-1)(1-\beta)([1+(k-1)\partial]^n(1-\lambda) + \lambda^{n+k-\frac{1}{n}C})} \tag{3.2}$$

Further we will prove the Growth theorem

Theorem 3.3. Growth theorem

Let the function $v(z)$ defined by (1.1) be in class $\mathfrak{S}(\eta, \xi, \alpha, \beta, \partial, \lambda)$, then

$$\begin{aligned} &\left| z \right| - \frac{2\xi\beta(1-\alpha)}{([1+\partial]^n(1-\lambda) + \lambda^{n+\frac{1}{n}C})(2\xi\beta(2-\alpha) + (1-\beta))} \left| z \right|^2 \leq \\ &\left| v(z) \right| \leq \left| z \right| + \frac{2\xi\beta(1-\alpha)}{([1+\partial]^n(1-\lambda) + \lambda^{n+\frac{1}{n}C})(2\xi\beta(2-\alpha) + (1-\beta))} \left| z \right|^2 \end{aligned} \tag{3.3}$$

$$\text{Proof: } ([1 + \partial]^n(1 - \lambda) + \lambda^{n+\frac{1}{n}C})(2\xi\beta(2 - \alpha) + (1 - \beta)) \sum_{k=2}^{\infty} a_k \leq \sum_{k=2}^{\infty} ([1 + (k - 1)\partial]^n(1 - \lambda) + \lambda^{n+k-\frac{1}{n}C})(2\xi\beta(k - \alpha) + (k - 1)(1 - \beta)) a_k \leq 2\xi\beta(1 - \alpha)$$

$$\begin{aligned} \sum_{k=2}^{\infty} a_k &\leq \frac{2\xi\beta(1-\alpha)}{([1+\partial]^n(1-\lambda) + \lambda^{n+\frac{1}{n}C})(2\xi\beta(2-\alpha) + (1-\beta))} \\ |f(z)| &= \left| z - \sum_{k=2}^{\infty} a_k z^k \right| \\ &\leq |z| + \left| z^2 \right| \sum_{k=2}^{\infty} a_k \\ &= |z| - \frac{2\xi\beta(1-\alpha)}{([1+\partial]^n(1-\lambda) + \lambda^{n+\frac{1}{n}C})(2\xi\beta(2-\alpha) + (1-\beta))} |z|^2 \leq |f(z)| \end{aligned} \tag{3.4}$$

Similarly, we can show that

$$\left| z \right| - \frac{2\xi\beta(1-\alpha)}{([1+\partial]^n(1-\lambda) + \lambda^{n+\frac{1}{n}C})(2\xi\beta(2-\alpha) + (1-\beta))} \left| z^2 \right| \leq |f(z)| \tag{3.5}$$

Hence, from (3.4) and (3.5) we can show that

$$\begin{aligned} &\left| z \right| - \frac{2\xi\beta(1-\alpha)}{([1+\partial]^n(1-\lambda) + \lambda^{n+\frac{1}{n}C})(2\xi\beta(2-\alpha) + (1-\beta))} \left| z^2 \right| \leq |f(z)| \leq \\ &\left| z \right| - \frac{2\xi\beta(1-\alpha)}{([1+\partial]^n(1-\lambda) + \lambda^{n+\frac{1}{n}C})(2\xi\beta(2-\alpha) + (1-\beta))} \left| z^2 \right| \end{aligned}$$



Theorem 3.4. $\mathfrak{S}(\eta, \xi, \alpha, \beta, \partial, \lambda)$ is convex set with respect to operation ‘+’ and ‘*’ defined in (2.1) and (2.2)

Proof: Let $v_1(z) = z - \sum_{k=2}^{\infty} a_k z^k$ and $v_2(z) = z - \sum_{k=2}^{\infty} b_k z^k$ in $\mathfrak{S}(\eta, \xi, \alpha, \beta, \partial, \lambda)$

Define $g(z) = c_1 * v_1(z) + c_2 * v_2(z)$ $c_1 + c_2 = 1$

$$= (z - \sum_{k=2}^{\infty} c_1 a_k z^k) + (z - \sum_{k=2}^{\infty} c_2 b_k z^k)$$

$$= z - \sum_{k=2}^{\infty} (c_1 a_k + c_2 b_k) z^k$$

$$\sum_{k=2}^{\infty} ([1 + (k-1)\partial]^n (1-\lambda) + \lambda^{n+k-1} C) (2\xi\beta(k-\alpha) + (k-1)(1-\beta)) (c_1 a_k + c_2 b_k) z^k$$

$$= c_1 (\sum_{k=2}^{\infty} ([1 + (k-1)\partial]^n (1-\lambda) + \lambda^{n+k-1} C) (2\xi\beta(k-\alpha) + (k-1)(1-\beta)) a_k) z^k +$$

$$c_2 (\sum_{k=2}^{\infty} ([1 + (k-1)\partial]^n (1-\lambda) + \lambda^{n+k-1} C) (2\xi\beta(k-\alpha) + (k-1)(1-\beta)) b_k) z^k$$

$$\leq c_1 (2\xi\beta(1-\alpha)) + c_2 (2\xi\beta(1-\alpha))$$

$$= 2\xi\beta(1-\alpha)(c_1 + c_2)$$

$$= 2\xi\beta(1-\alpha).$$

Hence, $\mathfrak{S}(\eta, \xi, \alpha, \beta, \partial, \lambda)$ is convex set.

Theorem 3.5. Let $v_1(z) = z$ and

$$v_k(z) = z - \frac{2\xi\beta(1-\alpha)}{((1+(k-1)\partial]^n(1-\lambda) + \lambda^{n+k-1} C)(2\xi\beta(k-\alpha) + (k-1)(1-\beta))} z^k \quad (k \geq 2) \tag{3.6}$$

Where $n \in \mathbb{N} \cup \{0\}$, $0 < \beta \leq 1$, $0 \leq \alpha < \frac{1}{2\xi}$, $\frac{1}{2} \leq \xi \leq 1$.

Then $v(z)$ is in subclass $\mathfrak{S}(\eta, \xi, \alpha, \beta, \partial, \lambda)$ if and only if $v(z) = \sum_{k=1}^{\infty} \lambda_k v_k(z)$

Where $\lambda_k \geq 0$ and $\sum_{k=1}^{\infty} \lambda_k = 1$.

Proof: Suppose that $v(z) = \sum_{k=1}^{\infty} \lambda_k v_k(z)$

$$= z - \sum_{k=2}^{\infty} \lambda_k \frac{2\xi\beta(1-\alpha)}{((1+(k-1)\partial]^n(1-\lambda) + \lambda^{n+k-1} C)(2\xi\beta(k-\alpha) + (k-1)(1-\beta))} z^k$$

$$\sum_{k=2}^{\infty} ([1 + (k-1)\partial]^n (1-\lambda) + \lambda^{n+k-1} C) (2\xi\beta(k-\alpha) + (k-1)(1-\beta)) \times$$

$$\left(\frac{2\xi\beta(1-\alpha)}{((1+(k-1)\partial]^n(1-\lambda) + \lambda^{n+k-1} C)(2\xi\beta(k-\alpha) + (k-1)(1-\beta))} \right) \lambda_k$$

$$= \sum_{k=2}^{\infty} \lambda_k 2\xi\beta(1-\alpha)$$

$$\leq 2\xi\beta(1-\alpha)$$

Hence $v(z) \in \mathfrak{S}(\eta, \xi, \alpha, \beta, \partial, \lambda)$

Conversely assume $v(z) \in \mathfrak{S}(\eta, \xi, \alpha, \beta, \partial, \lambda)$

$$\text{Set } \lambda_k = \frac{2\xi\beta(1-\alpha)((1+(k-1)\partial]^n(1-\lambda) + \lambda^{n+k-1} C)(2\xi\beta(k-\alpha) + (k-1)(1-\beta))}{2\xi\beta(1-\alpha)} a_k \quad (k \geq 2)$$

$$\lambda_1 = 1 - \sum_{k=2}^{\infty} \lambda_k$$

$$\sum_{k=1}^{\infty} \lambda_k v_k(z) = \lambda_1 v_1(z) + \sum_{k=2}^{\infty} \lambda_k v_k(z)$$

$$= z - \sum_{k=1}^{\infty} a_k z^k$$

This completes the proof of theorem.

Theorem 3.6. Suppose $v_i(z) = z - \sum_{k=1}^{\infty} a_{k,i} z^k$ is in the class $\mathfrak{S}(\eta, \xi, \alpha, \beta, \partial, \lambda)$

where, $i=1, 2, \dots, t$

$$\text{Define } h(z) = \frac{1}{t} * \sum_{i=1}^t v_i(z) \tag{3.7}$$

Then, $h(z) \in \mathfrak{S}(\eta, \xi, \alpha, \beta, \partial, \lambda)$.

Proof. Let $h(z) = \frac{1}{t} * \sum_{i=1}^t v_i(z)$

$$= \sum_{i=1}^t \frac{1}{t} * v_i(z)$$

$$= \sum_{i=1}^t \frac{1}{t} * (z - \sum_{k=1}^{\infty} a_{k,i} z^k)$$

$$= \sum_{i=1}^t (z - \sum_{k=1}^{\infty} \frac{1}{t} a_{k,i} z^k)$$



$$= (z - \sum_{k=2}^{\infty} (\sum_{i=1}^t \frac{1}{t} a_{k,i}) z^k) \\ = z - \sum_{k=2}^{\infty} a_k z^k$$

$$\sum_{k=2}^{\infty} [(1 + (k-1)\theta)^n (1-\lambda) + \lambda^{n+k-1} C] (2\xi\beta(k-\alpha) + (k-1)(1-\beta)) \left(\sum_{i=1}^t \frac{1}{t} a_{k,i} \right) z^k \\ \leq \frac{1}{t} \sum_{i=1}^t 2\xi\beta(1-\alpha) \\ < 2\xi\beta(1-\alpha)$$

Hence $h(z) \in \mathfrak{S}(\eta, \xi, \alpha, \beta, \theta, \lambda)$.

REFERENCES

- [1]. F.M. Al-oboudi, on univalent functions defined by a generalized salagean operator, International. J. Math. and Mathematical Sciences, **27**, 1429–1436, (2004).
- [2]. P.L. Duren, Univalent functions, Springer-Verlag, New York, USA, 1983.
- [3]. St. Ruscheweyh, New criteria for univalent functions, proc. Amer.math.soc. **49**, 109-115, (1975).
- [4]. T.V. Lakshminarsimhan, On subclasses of functions starlike in the unit disc, Indian math. Soc, **41**, 233-243, (1977).
- [5]. A. Janteng, S.A. Halim, M. Darus, Hankel Determinant for Starlike and Convex Functions, Int.Journal of Math.Analysis, **1**(13), 619-625, (2007).
- [6]. S.R. Kulkarni, Some problems connected with univalent functions, Ph.D. Thesis, Shivaji university, Kolhapur (1981).
- [7]. A.R. Juma, some problem connected with geometry of univalent and multivalent functions, Ph.D. Thesis University of Pune, Pune (2008).
- [8]. R. Raina, P. Sharma, J. Sokol, Certain classes of analytic functions related to the crescent shaped regions, Journal of Cont. Math.Analysis, **53**(6), 355-362, (2018).